= AH O
N = 0 & AF & E Al A
S FEZAIL
H: AAZAIZH
SRl 2T Al CEREED
- _ _ bSRE Y=
2MH - 2 . H2(ZH) - MEAY - BES Ol &F2H @,;OH Hns
G2 Al 15,082,604 14,103,548 979,056
= 9,043,569
iy 6,039,035
AT AEXY 15,037,996 13,214,788 1,823,208
= 9,043,569
o 5,994,427
T Al 22 4,057,314 4,545,600 488,286
& 2,490,269
o 1,567,045
SAIHE =¥ 265,311 17,000 248,311
101 ol 24| 5,376 0 5,376
04 JI12ZtMIZ2E2XNHsSE> 5,376 0 5,376
o TAIHE Mitelad 2012
33,740 * 14 » 140 4,724
o 4} BE= 4,724,000 * 13.8% 652
201 Et23d| 19,935 7,000 12,935
01 AtR22teldl 19,935 7,000 12,935
< 2gadg > 0
o ZHERALG BALG
70,000 * 13¥ * 63 5,460
< ZEH| > 0
o ZATZAYR =& 7,000 * 5 = 285 9,975
o HATZAIYER o 50,000 * 3¥ = 30 4,500
202 (4 i 10,000 10,000 0
01 2WdHYI 10,000 10,000 0
o AU AYGR =X 20,000 * 5% * 100 10,000
203 LR F&H| 2,000 0 2,000
03 AIBFAHI2 =AY 2,000 0 2,000
o ZAZANYR =& 2,000,000 2,000
401 AEHIZ 2] 228,000 0 228,000
01 Al&HI 210,000 0 210,000
o 2 HZ|HE (2K M2, JHEH) HEZ
3 200,000,000 * 14 200,000
o ADNAS TABED AYEAMY SDHE =
gEd 10,000,000 * 14] 10,000
03 Al =0HbI 18,000 0 18,000
o TAIHE 23 2102 S A=A
6,000,000 * 3 18,000
L2ES=EHAY 2,642,587 2,000,000 642,587
& 1,500,000
iy 1,142,587
201 B3| 5,600 0 5,600

- 357 -




2 BT Al
HM: HATAXH
oS JAT A2 (&9 HM
_ _ _ AT
2N -3 - c2(3H) - NEME - HES 0] AFCH IOﬁ/‘\_FOH Hns
01 AtR22ldl 5,600 0 5,600
<2Z+Y > 0
o AEE SHAMY FARRE FAY
70,000 * 169 * 53] 5,600
301 et A= 4,800 0 4,800
10 AIAHIEAZS 4,800 0 4,800
o AEE SHAY =&
100,000 * 16¥ * 33| 4,800
401 AlEHILE20HH] 2,632,187 2,000,000 632,187
= 1,500,000
= 1,132,187
01 Al&H| 2,632,187 1,950,000 682, 187
o AEE FHAIY 2,142,587,000 » 14! 2,142,587
= 1,500,000
= 642,587
o AES SHAL(2HIEIN)
489,600,000 * 14 489,600
N Hst2 S 22| 20,000 15,000 5,000
= 20,000
201 Et29H| 20,000 15,000 5,000
s 20,000
01 AtR22|dl 20,000 15,000 5,000
o JNEMS 2 22yl 20,000,000 * 14 20,000
= 20,000
HEHSHRS F X &AL 1,067,296 2,490,000 A 1,422,704
2 970,269
= 97,027
401 AlEHIL 2] 1,018,600 2,490,000 A 1,471,400
= 926,000
= 92,600
01 Al&H| 1,012,200 2,483,000 A 1,470,800
o JHgHME RS FOX2AS
1,012,200,000 * 14! 1,012,200
= 926,000
= 86,200
03 A=l 6,400 7,000 A 600
o JHgME RS FOXIAMY =X
6,400,000 * 14! 6,400
402 2I2EXHE0IH 48,696 0 48,696
s 44,269
= 4,427
01 QIAX2EX 48,696 0 48,696
o JHENE RS FOIXSAIYE MEH|
48,696,000 48,696
= 44,269
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SN
X XH .
S Tt

ok

SH-EH . O3 - MBAY - BAS 0f Ao Soe HRZ2
| = 4,427
XNotX & 2t 62,120 23,600 38,520
201 LBt29H| 32,120 23,600 8,520
02 s324g9H| 32,120 23,600 8,520
<ZDRIUHAM > 0
o HMXGINE HIR= 1,500,000 *= 12& 18,000
< AMEEUISXH > 0
o HAXIGHHE &IIotM B A2 2| ]
200,000 * 12& 2,400
o HAMHAXIGIIE EMOeZE 22|
310,000 = 12& 3,720
o HMAXGHAHE &HA Uiy
2,000,000 * 43| 8,000
401 AlEHIZLL20H] 30,000 0 30,000
01 Al&H| 30,000 0 30,000
o XIStXE AHE BIJOHY &X
30,000,000 * 1JH A 30,000
S AR E 2 1,200,560 1,643,171 N442 611
TAAHEECZ WA 1,110,560 1,018,419 92, 141
201 dBt2a | 2,520 2,520 0
01 At22telyl 2,520 2,520 0
< = EH| > 0
o TADIEYER =& 7,000 » 38 » 120« 2,520
202 (4 2,040 2,000 40
01 =2l 2,040 2,000 40
o TANLER =& 20,000 * 39 = 34 2,040
401 AEHI Y20 1,090,000 1,006, 300 83,700
01 Al&H| 1,084,960 1,000,000 84,960
o TAHEEZZ i 397,480,000 * 2JH A~ 794,960
o TAHEEZ A2 100,000,000 100,000
o NeloIZ2EE(ERXTR) 100,000,000 100,000
o XloterA A 50,000,000 * 1JH 24~ 50,000
o ZEWINZE AX (452 H)
40,000,000 * 14 40,000
03 A& =20HbI 5,040 6,300 A 1,260
o CAHEEZZ e F&X
800,000,000 * 0.63% 5,040
402 SIZ2tX=201A 16,000 0 16,000
01 QIZEXE2E X 16,000 0 16,000
o AIJIAl E&XH AL 800,000 * 20AICH 16,000
Z20= 22| 90,000 38,200 51,800
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SN

I‘I iH:

Z2 Al
BT AEY

S SADNE 22 (&2 &
- _ _ N
SM-BH-H2A(FAH) - MIRAY - BES 01l A+oH Oﬁ/?OH Hns2
401 AlEHIL =20 90,000 36,000 54,000
01 Al&HI 90,000 36,000 54,000
o Z2&= HEN 4X
13,000,000 * 5JH A 65,000
o x&1=E AHEW Hul 2,000,000 * 3M A 6,000
o 2= HEN ClHA
500,000 * 38 A 19,000
At 22| 9,780,122 7,026,017 2,754,105
= 6,553,300
= 3,226,822
sHE NN =E &X 7,832,958 5,440,280 2,392,678
= 5,434,000
= 2,398,958
201 etIH| 1,848 1,800 48
01 AtR22|dl 1,848 1,800 48
< 22FH| > 0
o MALCAHAREX 7,000 = 8%H * 33 1,848
202 Of HI 4,110 3,480 630
01 2L HI 4,110 3,480 630
o a=G JI2HRFE 20,000 * 48 » 39 3,120
o =ZAA 2= 35,000 = 29 = 12& 840
o AT AR 50,000 = 3% 150
401 AIEHIL 20 7,827,000 5,435,000 2,392,000
2 5,434,000
= 2,393,000
01 Al&HI 7,809,000 5,421,000 2,388,000
o SEH XNYarE Zx2AZ X SA
23,809,523 * 21km 500,000
o MEH XNga+E HAXISA AN
150,000,000 * 14! 150,000
o L&Yl JI2HEHE 2Y
200,000,000 * 14 200,000
o AT AL 25 L 222 (AA, &AH)
3,479,500,000 * 24 A 6,959,000
= 5,434,000
= 1,525,000
03 AlE=0HYI 18,000 14,000 4,000
o AT A4 =25 L Z2eME FA
18,000,000 18,000
A AlE SEAMY 100,000 350,000 A 250,000
401 AIEHIL 20 100,000 350,000 A 250,000
01 Al&HI 100,000 350,000 A 250,000
o MALT ANESEHIY(ZESISA 83 =)
100,000,000 * 14 100,000




SH: BREAID
M ABCAIEH
ool Mac e (el:@g

_ _ PSEN=
2MH - 2 . H2(ZH) - MEAY - BES AFoH Om/?o” Hns
AL A DAY 429,000 1,021,000 A592,000
= 300,300
iy 128,700
401 AlEHI L2 429,000 1,021,000 592,000
2 300,300
iy 128,700
01 Al&H| 426,300 1,014,568 588,268
o ARDATAILNBAIY
142,100,000 * 34 A& 426,300
= 300,300
iy 126,000
03 AlE=20HbI 2,700 6,432 N3,732
o AHE =T AIEIMEAE =& 2,700,000 2,700
SENE S LAY , 100,000 0 1,100,000
= 770,000
iy 330,000
401 AlEHI Y2 , 100,000 0 1,100,000
= 770,000
iy 330,000
01 Al&H| ,093,400 0 1,093,400
o SESY MESHINWYAY
218,680,000 * 5 A ,093,400
= 770,000
iy 323,400
03 A& 20HYI 6,600 0 6,600
o SE=Y MESSINLAMY =& 6,600,000 6,600
OISa=E =222 74,922 77,622 A2,700
201 LEt29H| 71,402 75,102 A3,700
01 A2 2eltl 71,402 75,102 A3,700
< Ydt=ZH| > 0
o IS4+ H4 2EHAEEE 53,528
- 13&= Al 56,500 * 11704 * 33| 19,832
- b5&t= AHAL 288,000 * 11704 * 13 33,696
o QISALE H=us FEAAMN =42 8,352
- B A 30,700 * 30JH A * 23] 1,842
- 13]/29 B At 217,000 * 300HA * 13 6,510
o [IS24+% Kot 2B A =25 6,822
- 18//249 2 At 75,800 * 90 * 13 6,822
o =2 SEEON &2t 450 * 6,0000H 2,700
206 24 3,520 2,520 1,000
01 TH=Z 4l 3,520 2,520 1,000
o QIS4 AEF7Y 3,520
- ASUE 4,000 * 850kg 3,400
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S BREAD
Ha: JUCAEH
el A (649l &2
_ _ _ Muo
SN B SRA(SIH) - MBAY - BAS 0l &k 24 e HlnE2
- HEEA AN 10,000 * 1274 120
DISA4T A& 68,000 66,500 1,500
401 AlEHIL 2T 68,000 66,500 1,500
01 Al 68,000 66,500 1,500
o O2a%E $+Z26H 2
2,500,000 * 14744 35,000
o OIS &4E A& 24 3,000,000 * 1144 33,000
Zagy o2y 2 77,242 70,615 6,627
101 Q11| 33,397 36,398 1,999
04 JIAH2ENSE S 38,397 36,398 1,999
o WYLHOIZY el ARy
33,740 * 20Y * 102 * 53] 33,740
o 40 282 33,740,000 * 13.8% 4,657
201 ety 8,356 9,352 199
01 AL eIt 2,000 2,000 0
< dpraghl > 0
o FYULHDIZY S22 M=
1,000,000 * 23] 2,000
02 ZZ2H| 6,356 7,352 996
<BBRIYLMA > 0
o BYLHOIZY B0/ MRS
363,000 * 128 4,356
< NERHISTH > 0
o HOIY XY S Nagxe
2,000,000 * 14! 2,000
206 T2 30,489 24,865 5,624
01 MEHl 30,489 24,865 5,624
o BYY Z0IY 2ol L FUI(HOIZREE) 30,489
- grEey| 3,100 * 1,500% 4,650
- DEEY| 20,000 * 300% 6,000
- =82 24,640 * 100% 2,464
-5 o 63,000 * 253| * 55 7,875
- BOIOH 15,000 * 50% 750
- g 75,000 * 50= 3,750
- BRIBUIPY(SIIHS) 5,000,000 * 14 5,000
IIEMEBLZNT FEEIB 98,000 0 98,000
= 49,000
2 49,000
401 AlEHIL 2T 98,000 0 98,000
= 49,000
2 49,000
01 Al 98,000 0 98,000
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